= A
HOZE ol & Ab 2 M A
SN ARRHD
HaM: gtes B8 L IJIXMID(SHH/ASEE - £8)
F2|: BHHIIZAE &= (2 &HH)
2 S 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
A8 M 233,329, 144 225,438,920 7,890,224
= 91,162,300
g 64,500,000
Jl 274,240
= 77,392,604
ez 28 2 XM (s /Mdolex - 22 233,273,729 225,382,605 7,891,124
= 91,162,300
g 64,500,000
Dl 274,240
= 77,337,189
ESHIZANE &= 74,783,800 115,665,766 N 40,881,966
= 73,847,000
o 936,800
BEIEANE 29 - 22 10,000 10,000 0
202 044l 10,000 10,000 0
01 2UH ot bl 10,000 10,000 0
O&BIIEZAAE 22 & NEEZH 10,000
oteXeld s=(=21) 15,784,800 34,936, 326 N 19,151,526
= 14,902,000
== 882,800
403 RXSH S0l & 15,784,800 34,936,326 19,151,526
= 14,902,000
o=t 882,800
01 XIS A=2E X 15,784,800 34,936, 326 N 19,151,526
Odlx=XMel&d AsSE L i 15,784,800
= 14,902,000
& 882,800
StEXHel & SXe2 As(=2D) 1,483,000 935,000 548,000
= 1,483,000
403 XX SHHS K20 & 1,483,000 935,000 548,000
= 1,483,000
01 XIS A=Z2E X 1,483,000 935,000 548,000
Odt=Xceld sAdcS &=t 1,483,000
= 1,483,000
ot=2=2 HU|(=Z21) 30,841,000 48,563,000 A 17,722,000
= 30,841,000
403 XX SRS K20 & 30,841,000 48,563,000 A 17,722,000
= 30,841,000
01 MXSHHNE2E = 30,841,000 48,563,000 N 17,722,000
Oodlx=&= & H| 30,841,000
= 30,841,000
== 0ISota=% HU|(212) 8,725,000 13,602,469 N4 877,469
= 8,699,000
== 26,000




SN AR
o geg 2H 2 HAMD(BY/YAAE - +F)
Sl BAIEAE S (29l 8)
SA- - H2A(3A) - MM - BES Ofl &F 4 %Ei Hnsz
403 XHXI € H S X2 0l & 8,725,000 13,602,469 4,877,469
2 8,699,000
= 26,000
01 XEXIEHRIRH2 2 X 8,725,000 13,602,469 4,877,469
OS0E 0125t4E FulAMY 8,725,000
2 8,699,000
< 26,000
S+ HY| BILATE NS(FD) 6,918,000 16,917,000 1,000
2 16,918,000
403 XtXI € H S X2 0l & 6,918,000 16,917,000 1,000
2 6,918,000
R BT 16,918,000 16,917,000 1,000
O+ NI BILYUE XIS 16,918,000
2 16,918,000
IEHS StaHAF &X(2D) 158,000 701,971 £543,971
2 140,000
= 18,000
403 XHXI € H S X2 0l & 158,000 701,971 £543,971
2 140,000
= 18,000
01 XEXIEHRIXH= 2 58,000 701,971 £543,971
oE MUY &X 158,000
2 140,000
= 18,000
=S54 RE FYXA N (2D) 664,000 0 664,000
2 664,000
403 XHXI € H S X2 0l & 664,000 0 664,000
2 664,000
01 XEXIEHRI b2 2 = 664,000 0 664,000
CEGABE FYEA 5HA 664,000
2 664,000
IHE2EBIHAANE 23 (2D) 200,000 0 200,000
2 200,000
403 XbXI € H S X2 0l & 200,000 0 200,000
2 200,000
01 MXI A== X 200,000 0 200,000
ONEEL BBH2AANL &1 200,000
2 200,000
=HEF e 15,221,229 18,739,303 A3,518,074
2 3,637,000
| 274,240
S 11,309,989
MENGHE SRAY(HE) 9,540,000 0 9,540,000
403 XHXI € H S X2 0l & 9,540,000 0 9,540,000




SH: 2E2HY
Yo ge2 28 2 HAMD(BZ/MOLE - +H)
ool e R (eol:@e)
SN HH - (EH) - HRAY - BES 0l &k o4 il Hl DS 2
01 XA 22 = 9,540,000 0 9,540,000
ODIZE MEISIHSRAIY (ZH)(HE) 3,500,000
OB MEGE=RAY (BF)(HE) 2,000,000
OBEA MESIHSAAY(HA) () 2,000,000
OZXLE MEIGIHS VALY (MH)(HE) 1,040,000
OUBI M MEIGIHSRAIY (BE) () 1,000,000
HIEQAM2AME(2D) 4,188,755 7,168,150 £2,979,395
2 3,637,000
= 551,755
207 &R p Lt 300,000 100,000 200,000
2 210,000
= 90,000
01 el 300,000 100,000 200,000
OHEH A2 NSNS +8 300,000
2 210,000
= 90,000
403 XHXI RIS X2 0| & 3,888.755 7,068, 150 £3,179,395
2 3,427,000
= 461,755
01 IR AT = = 3,888,755 7,068, 150 £3,179,395
OHIE2Y HAAY 3,888,755
2 3,427,000
= 461,755
HIE 22 12 A e 145,000 140,000 5,000
207 &R f Lt 20,000 15,000 5,000
01 R Ay 20,000 15,000 5,000
OHIE S ZRINA +MEH 2UEHY S 20,000
403 XX EHHIS X0l & 125,000 125,000 0
01 XA L= 125,000 125,000 0
ODUNY SLESHZY SUAWAL 125,000
4SS JIZ22YH(2D) 6,150 6. 150 0
g 6,150
201 L2 | 1,000 0 1,000
p] 1,000
01 AL 2r2l 1,000 0 1,000
oO4SZ A2 2% 1,000
g 1,000
202 0t 5,150 6. 150 A 1,000
g 5,150
01 2LHO! I 1,000 1,650 650
oOHEY 4 2T 1,000
g 1,000
04 2 31 01 bl 4,150 4,500 £350




A FEEED
Mo otee UA L XN (BA/MNEILE - +7)
H2EF M CHel & 2 )
S HEB B (B) - MBAY - BHAS il D=2

PEEEERINEE] 4,150
Il 4,150

2 J2e9d8(=210) 20,750 20,400 350
Il 20,750

201 B2 | 3,000 20,400 A 17,400
Il 3,000

01 A2 22| bl 3,000 20,400 A 17,400
OBIZFEHH XA AAH S 3,000
Il 3,000

202 04 HI 17,750 0 17,750
Il 17,750

01 = LHO HI 7,750 0 7,750
ostL4N ALEZ 7.750
Il 7,750

04 = M3t Bl 10,000 0 10,000
onoel STX AL 10,000
J| 10,000

St 2EBHES XSAY(=1) 93,000 93,000 0
Il 93,000

403 X SHHMS K201 A 93,000 93,000 0
Il 93,000

01 XXM 22 = 93,000 93,000 0
QU2 +ELHES X2 93,000
Il 93,000

B FUXAFAL(2D) 4,340 4,340 0
J| 4,340

202 O HI 4,340 4,340 0
Il 4,340

04 =Xl 3t Yl 4,340 4,340 0
OZRIXAAY MEX 28t 4,340
Il 4,340

24 2EQEEY MR20d 2 (=21) 100,000 50,000 50,000
Il 100,000

101 2124 d| 100,000 50,000 50,000
Il 100,000

04 J|I2tH =22 NHEE 100,000 50,000 50,000
O&d=0olg oy 100,000
J| 100,000

d FANEZH(=1) 90,000 90,000 0
Il 50,000
T 40,000

307 2I2t0l A 90,000 90,000 0
Il 50,000




SN ARRHD
My ot22 B U IXMD(BB/MELE - 1)
Sl 2EY N (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
< 40,000
02 RIZFE MM E X 90,000 90,000 0
©2020 E&d=2H=ELH 90,000
J| 50,000
< 40,000
=22 ZZH A Jlg otA 24,000 24,000 0
201 Let2d] 23,000 23,000 0
01 At 22l 9,000 9,000 0
O+=22g EZHM =& 9,000
02 3323l 9,000 9,000 0
O=&E R HLANAE KR - E= 9,000
03 A2 Z Hl 5,000 5,000 0
O==Z22g SN R Nl 5,000
301 LEHZ 1,000 1,000 0
09 SALAHIX A S 1,000 1,000 0
O+Z22d SZHM 39 AHX& 1,000
=Z2Z0F At X SLESI 13,000 13,000 0
307 glz2tol & 13,000 13,000 0
02 RIZFE MM E X 13,000 13,000 0
O+=ZZ0F M3EH SU2SX 13,000
HRlGt=HMElAlE JHE & 2el 996,234 679,463 316,771
308 XX ©HAI S0 & 651,186 437,463 213,723
01 IXNSHHBANEES 651,186 437,463 213,723
OJMelot=XelAle A& 2e XA 651,186
403 UHXISHHSA=0l& 345,048 242,000 103,048
01 XM= L 345,048 242,000 103,048
OMelst=xXelAld &X X& 345,048
S 43 IJIXIH L2 362,400 401,536 A 39,136
= 53,000
< 309,400
sty A/ 28 FH 83,000 83,000 0
201 LBH2EH| 43,000 43,000 0
01 At 22l 23,000 23,000 0
O8t2dRY A &= 3,000
Otz &Itk 25 o 22 20,000
03 A2 Z Hl 20,000 20,000 0
ost2dRd A3 &= 20,000
307 glz2+0ol & 40,000 40,000 0
04 QIZFHALAIH B = 40,000 40,000 0




2N
X ZH -
L= B

el

5 - 4
SA BB (SH) - NRAY - B Ol At o %@i HRE2
OTtd SGAI- MEf - 3 AIR 22H 40,000
=X XM =8 28,500 28,500 0
201 LBt Y| 4,500 4,500 0
01 AP 22| d| 4,500 4,500 0
OMESIE =R NE+Y & 2 Ed gF2FA 4,500
202 044l 24,000 24,000 0
01 2L Y| 24,000 24,000 0
AESAEAM L LT JIXIMD 24,000
QMM AL 2t 55,500 87,636 N 32,136
201 Bt 2,500 2,500 0
01 AP 22| H| 1,500 1,500 0
OQMRAN ZRIANES 1,500
02 232%H4| 1,000 1,000 0
O28g3 A3t 1,000
308 XAHXIEHSOIA 53,000 85,136 N 32,136
01 AIXSHMENEXZ 15,000 47,136 N 32,136
OLLM2A A& A2l 15,000
02 8x=NE2 38,000 38,000 0
OMREIANESE AN E2 38,000
HEE ZS A4 HHEAISE(Z2D) 53,000 60,000 AT7,000
= 53,000
403 AIXSHHME X201 N 53,000 60,000 AT7,000
= 53,000
01 MXSHAHXNE2EE X 53,000 60,000 AT7,000
H==E Z2SAE A 53,000
= 53,000
XNote =228A == X3 AL 142,400 142,400 0
308 AHXIEHSOIA 142,400 142,400 0
01 AIXSHMENMNEX= 142,400 142,400 0
O 222X AY 142,400
LM G 2 A B2 142,604,800 90,039,000 52,565,800
= 13,625,300
Fag 64,500,000
& 64,479,500
ot =2 232 =48 4,500 9,000 A 4,500
202 04| 4,500 9,000 A 4,500
01 2Ll 4,500 9,000 A 4,500
OMNx=TAlE 22| S SX&EH 4,500
CSASLE AH(Z2D) 66,874,000 39,014,000 27,860,000
Ry 62,000,000




SN 4RERDY
Hu: gl A U XA D(BY/LEEE - 23)
ol olEE 2 OEN 23 (el @2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
== 4,874,000
403 XX S M S X201 A 66,874,000 39,014,000 27,860,000
= 62,000,000
= 4,874,000
01 MXHAMAHEBE = 66,874,000 39,014,000 27,860,000
OXeasc SUHSAIY 66,874,000
rag 62,000,000
o= 4,874,000
S0HE MEBE4 LY (HE) 53,146,000 0 53,146,000
403 XX S M S K201 A 53,146,000 0 53,146,000
01 MXHHE2BE =X 53,146,000 0 53,146,000
ZEHA MH3IX HEXF(HE) 530,000
ZEHAN HERAX P (HEH) 2,483,000
OZ=HAl AES 1XH(EEH) 564,000
OLZA AHE (X EH) 1,129,000
OZEA ¥ (MEH 2,020,000
OEHEH Al GHAIOIOIS (& &) 2,229,000
O&a= Al OI2(MEH) 749,000
OMAA SHE(XEH) 4,774,000
OENZ SH(MEH) 2,144,000
OEHdZ HXY(HE) 790,000
OYER =30 222 (M8 789,000
OLWAZ SHINEH(ME) 3,386,000
OEEZ &EH HEXFR(HEH 4,901,000
OANZT U BN (X&) 2,801,000
OEIAZ MH(HEH) 2,370,000
OzdZ =238 (ME) 7,479,000
OFHETZ AAAA(HE) 2,773,000
OUYPRZ SAH (MEH 5,437,000
OPCIHZ JIgla(ME) 858,000
OQHMZ HMEH(ME 4,229,000
oYU AH (MEH 711,000
ARE 2T AL NS (HEH 6,230,000 0 6,230,000
403 XX S M S K201 A 6,230,000 0 6,230,000
01 HXHNMAHEE = 6,230,000 0 6,230,000
OAFD =T AIE NSAY(HEH 6,230,000
AP SR FOXRA(21D) 956,300 949,500 6,800
= 956,300
403 XXM S K201 A 956,300 949,500 6,800
= 956,300
01 HXHNMAHEBE = 956,300 949,500 6,800
OMNx|BS A FOIXE 956,300




SN 4RERDY
Hu: gl A U XA D(BY/LEEE - 23)
ol olEE 2 OEN 23 (el:de)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
| = 956,300
stutulol Mz st =& 100,000 60,000 40,000
403 ItXISHHSA201H 100,000 60,000 40,000
01 XX SHMAA2E X 100,000 60,000 40,000
osiElEg BEsE 22 ¥ A= e 100,000
2L Y (21D) 2,500,000 0 2,500,000
fag 2,500,000
403 ItXISHAMSA201 A 2,500,000 0 2,500,000
= 2,500,000
01 AIXISHMA2E X 2,500,000 0 2,500,000
OXHW = 2,500,000
= 2,500,000
=2 sz IEHE 8 29 125,000 0 125,000
401 Al HI L £ 0HHI 125,000 0 125,000
01 Al& Bl 125,000 0 125,000
O=2 =& SEHE 8 89 125,000
CEALAZ HUZA N (21D) 383,000 0 383,000
= 383,000
403 X SHMS K201 A 383,000 0 383,000
= 383,000
01 XX SHMAA2EX 383,000 0 383,000
OLF: &t HUXIA 383,000
= 383,000
AQIE Xgax X (=2D0) 11,521,000 0 11,521,000
= 11,521,000
403 ItXIHAMSA201 A 11,521,000 0 11,521,000
= 11,521,000
01 XX SHMA2E X 11,521,000 0 11,521,000
OADIE XA+ X 11,521,000
= 11,521,000
THAFZIEIAIAE = AHAY(Z2D) 765,000 0 765,000
= 765,000
403 XIS XS K201 765,000 0 765,000
= 765,000
01 AIXISHM A2 X 765,000 0 765,000
OXFAZZIAIAE = AIHALS 765,000
= 765,000
St&al 23 301,500 537,000 A 235,500
OtMGHD MRS s &EA X4 301,500 303,000 A 1,500
202 04| 1,500 3,000 A 1,500
01 2LHOHI 1,500 3,000 A 1,500




SN 2EBEDY
Hu: ges =& 2 XA D( S - 2H)
& SEY 23 (&)
LR P Ol &+ o4 SSa HmEET
Oet&st Jh2R T8 MEEH 1,500
403 XX S X S At 300,000 300,000 0
01 XM A=2EER 300,000 300,000 0
OZ2ss& 4 300,000
HE2IBH (=EEX ) (IIEH/DIIEL) 55,415 56,315 A 900
Jl23&dl 55,415 56,315 A 900
EM29 JI=2Z 4l 55,415 56,315 A 900
201 Let24d] 37,115 37,115 0
01 At 22l 37,115 37,115 0
ORAN2Y 37,115
202 o4l 13,500 15,000 A 1,500
01 = LH YI 13,500 15,000 A 1,500
OFNE2YE WAL 13,500
203 YR =& 4,800 4,200 600
04 FN2EHRF 4,800 4,200 600
©2521 Ol ot 400,000& 128 4,800




